(ErON)’

RUTANS YT ISV T

S45C BEAHRC30+5
B

NANVIN NIV by SR D (et

L i RS ME(@AE

F—9—No.|  No. wemLs A 0 B 0 C D . E - F . G . H @ B ESkg| f@E R—ZTLAVN
26819 |SCM0011| M 8 40 25 12 - 12 8 7 9 ‘M 8x1.25 0.08 | 2,330 ...
26820 [SCM0012| M 8 80 25 @ 12 - 12 20 7 9 M 8x1.25 0.16 | 2,430

26821 |SCM0031| M12 54 . 25 12 10 8 10 13 M12x1.75: 0.13 | 2,630
26822 |SCM0032| M12 108 @ 32 16 12 25 10 13 M12X1.75° 0.36 | 2,730
26823 |SCM0100| M14 58 @ 32 16 12 8 12 16 iM14x2 0.18 | 2,880
01114 |SCM0101| M14 100 @ 38 19 16 12 23 16 16 M14x2 0.44 | 3,000
02691 |SCM0102| M14 150 . 38 19 16 12 39 16 16 M14x2 0.70 | 3,620
26824 |SCM0200|, M16 65 50 25 8 14 8 14 18 M16X2 0.48 | 4,270
02692 |SCM0201| M16 100 @ 50 25 22 14 23 19 18 M16X2 0.67 | 4,450
02693 |SCM0202| M16 150 @ 50 25 22 14 32 19 18 M16X2 110 | 4940 ...

02694 |SCM0203| M16 175 . 50 25 22 14 39 19 18 M16X2 1.30 | 5,400

| 0o | 0o

RIVINAR
02695 |SCM0301| M18 150 © 50 @ 30 =~ 24 = 15 26 . 22 20 MI8x25 130 5500
02696 |SCM0302| M18 175 50 30 = 24 15 32 22 20 MI8x25 155 | 6,100 .
02697 [SCM0303| M18 200 50 30 24 15 39 22 20 MI8x25 188 8100 I
MERBCIRIVNEZENTEYE A
iR
e msR~N—-y
AN SYMERIVR I5T2IUa— 55|

T

P.412 » P.482 »

==
L.
Z 7
\

R—LR—IT CAD F—9IDI U VO—REEBEBRN TEEFT,




	F214J_0409

